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Setld : 47071_75 12Aug18_Batch2 D
Section 1 - Paperl-General English

1) Choose the correct answer:
The little boy stood at the and prayed.

o o Techofworld.In

B) alteration
C) alter
D) altenate

2) Choose the correct answer:
The doctors won over the entire town by their
treatment of all the patients.

A) unkind
B) humane
C) violent
D) sadistic

3) Choose the correct answer:
He approached the officer with his
letter.

A) audaciously
B) long-lasting
C) banality

D) coy

4) Choose the synonym of the given word:

languish

A) deteriorate
B) start

C) fantastic
D) down

5) Choose the right option to fill the blank:
Rakesh was in pain, he wrote his test.

A) still
B) and
C) hence
D) for
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Section 2 - Paperl-Education and General Awareness

6) Which of the following documents has visualized India
to be a secular and democratic republic committed to the
valuesof justice, liberty, equality and fraternity?

A) Recommendation of Education Commission
B) Preamble of the Indian Constitution

C) Vision statement of National Curricular Framework
D) Report of Delor's Commission

6) FARYS FRIQ 698 NG NNEY INRIFFAEIBANIGR

QUBRIES FUIL, AT, ARG e GIPR VISR AR @A
?

A) SR8l 62199 9IS AF@
B) @iao1 aRIGR 99 af

C) 1912 Q10459 6gFI9IRQ ORRgR 929y
D) sena 2iccliog Gedle

7) Which of the following options is a classic example of
nation with two party system?

A) SriLanka

B) China

C) Cuba

D) United States of America

7) 90 90 980 6@¢ AR GRS AR 6REE QUY
QQIZRE) 26S ?

A) g

B) o1

C) qyal

D) goaig 2I6aam|

8) Which former Prime Minister of India conceived the
idea of Jawahar Navodaya Vidyalayas?

A) Jawaharlal Nehru
B) PV Narasimha Rao
C) Indira Gandhi

D) Rajiv Gandhi

8) QISR 69 YasR QIRALT FRIER QI IR
S2NIIQIS AAGIR FG2lER ?

A) GRIZaNIN 6529
B) 9@ @ade 8
C) q@al aIF

D) Qe qI

9) Which among the following organic solvents is
commonly used in a nail polish remover?

A) Isoparaffin
B) Turpentine
C) Toluene
D) Acetone

9) 697 NG AIER 69 ARIAE WEY WL 66 QIR
FIRYS QI 6QRE 2168 ?

A) 2IREAITIATR
B) cosaeiaq
C) 6o1paq

D) w@egiq

10) Sargent Scheme of Education' is also known as:

A) Scheme of Pre-War Educational Reconstruction in
India

B) Scheme of Post-War Education Development in India
C) Report by the National Advisory Council of Education
D) Report by the Central Board of Secondary Education

10) SRR A6RE A FUE W6 AU ARG

A) QI9ER YE-g996 8IR gRU0f 698G
B) QIagsa ga-aa9a S8ia 3016 6Q1aS!
C) qIo1a SRl A06edl 98EQ FIRl 6T

D) g0 ARIFR 91 988 FIRl QIS
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11) Which of the following is the major function of NIEPA?

A) Educational Planning
B) Educational Unity

C) Educational Evaluation
D) Educational Supervision

11) FIRYE PRI 696F IG2IRRTIR TS Ay 266 ?

A) c38qsa1ea
B) 68@8aaaal

C) s3@aqauioe
D) cd@aadueand

12) Which of the following gases is the main constituent
of gobar gas?

A) Carbon dioxide
B) Ethane

C) Methane

D) Hydrogen

12) FORYS FUQ 69T 66190 SHIY Q TSI ACR 266 2

A) 21gneIe),
B) asag
C) deaq
D) e@gig

13) Who among the following political philosophers

13) GIRYS QAREHoR QISR g @9 adgen 64 'glRIA®
FEIYER QI FIAI AP QR 62Q1 QTR LG4l Y QR ARAT
AR 697

A) oq gaI6 fn
B) o7 o

C) QIR A1mg
D) sauc1q @9

14) As of June 2018, who is the President of NIEPA
(National Institute of Educational Planning and
Administration) Council?

A) Shri Prakash Javdekar

B) Smt. Smriti Irani

C) ShriManohar Parekar

D) Shri Murali Manohar Joshi

14) g/ 2018 9@, <RZIRRdY (NIARIR SVdYE 2T

Ngeadain QIF° g 219fteadq) faadn o 89 2ud aFad
t;

A) 919919 FINELR

B) 910161 96 @aIg

C) g1 asqieq A6a@a

D) g1 clam1 A6R1eQ Q14!

expounded that 'Primary goods are to be distributed by

the state equally, unless an unequal distribution would be
to everyone’s advantage'?

A) John Stuart Mill
B) John Rawls

C) Karl Marx

D) Thomas Hobbes
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Section 3 - Paperl-Reasoning

15) Weights of three friends is 60 kg, 80 kg and 40 kg. The
average weight of all of them is (kg)

A) 55
B) 61
C) 82
D) 60

15) 6@ QAT Bee 6¥6d 60 @9, 80 Fgrae° 40 &g |
6Q7I0E QAL QIR B 660 (RGN

A) 55
B) 61
C) 82
D) 60

16) What is the next number in the given series?
675, 728, 783, 840, ?

A) 891
B) 901
C) 999
D) 899

16) 99 G760 29I AHIGFAR IO LT 94l 629 ?
675, 728, 783, 840, ?

A) 891
B) 901
C) 999
D) 899

17) 5 litres of a solution of milk & water contains 40% milk.
How much milk must be added to make the percentage of
milk 60%"?

A) 10.5 litres
B) 15.5 litres
C) 2.5 litres

D) 6 .5 litres

17) 910 8 AIda 5 Rea Figee 40% SR &8 | Ao 9699
60% @09l JIR 6069 AFIKIA 16 91Tl 2IEue ?

A) 105 litres

)

B) 155 litres
C) 2.5 litres
D) 6 5 litres

18) What is the missing number in the given series?
87846, 7986, 726, 7,6

A) 66
B) 11
C) 60
D) 12

18) 9 G164 @ Q1 A°HUIG Qdl 8165 ?
87846, 7986, 726,7,6

66
11
60
12

m
—_— e~

19) What is the next number in the given series?
1001, 2002, 3003, 4004, ?
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19) 99R GF16Q 29I YRR QR LHIT @ 629 ?
1001, 2002, 3003, 4004, ?

A) 5001 TeChO

B) 4005
C) 3005
D) 5005

20) What is the next number in the given series?
11, 33,99, 7

20) 9@ F616Q 2]l ALIMIFGFRR QR AT @ 689 ?
11, 33,99, 7?

A) 293
B) 297
C) 231
D) 239
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Section 4 - Paperl-Teaching Aptitude

21) Teaching may be defined as an activity which is

A) eternal

B) intrapersonal
C) international
D) interpersonal

21) 891 gRIRQ 6949 YRR AITIARIT BIEE QU RAILIRAIRS
?

A) zeq

B) Q4@ <4a e1lsa
C) 261018

D) 43w c1z6a

22) According to the UGC, which of the following is NOT
a major issue in higher education?

A) The assessment of institutions
B) Reorientation of programmes
C) Civilization of students

D) Financing and management

22) 954 agaIe, FARYE FUQ 6986 a9 J8 68961 Y@ 9ad
gaer gee ?

A) uIgeeq gaiiss
B) aidigna gaaIq@
C) g1g219'& 2I9Ia 43!
D) 218ie 6 adcIas!

23) Which of the following is NOT a characteristic of an
effective teacher?

A) Organization and Clarity

B) Analytic/Synthetic Approach
C) variety in instruction is missing
D) Dynamism and Enthusiasm

23) GORYeYEe AUIQ 6RR0 F68 gRIe1 SReea 658/ Q6%
?

A) G0 3 Q]S

B) G64.84199/2°6AISINR QF6R14
C) Geageq GaueI QId

D) aGe1eel 8 Q12

24) The Right to Education was passed in

A) 2009
B) 2010
C) 2011
D) 2012

24) 331 2RYRIQ AR 698 9F TIRG 6B ?

A) 2009
B) 2010
C) 2011
D) 2012

25) Two students are fighting with each other. As a
teacher what should you do?

A) Counsel both the students

B) Give them corporal punishment
C) Suspend both the students

D) Detain both the students

25) 96 K¢ BI8 999 AUsR FIR ARINE 6508 | K68 daw
QIER IS R AER 6] ?

A) QA 818F QRIRER

B) saqieg 41010 a8 6269
C) 209 8187 FREe 9869
D) @09 819F 26% Q¥6R
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26) The word Education has been taken from the word

'‘educatum’ which is taken from which of the following
languages?

A) Greek
B) French
C) Sanskrit
D) Latin

26) Ng6ada JRG NGRS dRg MG 62RE AT NS
600 AT 26T ?

A) 91R

B) ey
C) aqe
D) uidq

27) According to the National Curriculum Framework,
English has been made compulsory from

A) Class 1
B) Class 3
C) Class 2
D) Class 5

27) 91919 QI0YRS QB AQAIT AR NG 688 6941
QRIGICINR GAUARET ?

A) o6l 68411
B) mg1 6gan
C) 9a 6gén
D) 8 egan

28) The two major factors that control the child's learning
and personality are

A) peers and society

B) physical and maturity levels
C) grandparents and parents
D) hereditary and environment

R T et

28) Giga GRIGITE 9L QUBRY FARE QIS T Y QIR
@4 26T ?

A) qiein ge° aqie

)
B) €Ic13e 99° 98aas 29
C) 60659191 6x68¢1 9e° FaIAIg!
)

D) aige-die 1e° atla

29) When young children are made to play with mud, it
gives an exercise to their

A) olfactory senses
B) visual senses

C) kinesthetic senses
D) auditory senses

29) 6960696R 9 JRIFIKS QRIQREA 6HRE, Y2 GIFR 6aQ
geIa 2RYIA QAN ?

A) gie 2g9e
B) @&y 2geé
C) gkaide aged
D) geg 2ge@

30) Which Education commission stressed on the fact that

India being an agrarian country, should start agricultural
study right from primary level?

A) Knowledge Commission

B) Kothari Commission

C) Unversity Education Commission
D) Mudaliar Commission

30) LIRe e 9F0Ae 694 c2IRgQIg, glkifie 20g 98 Jug

dQIASI Q060 699 JAI 26T YRR 6B ?

A) gie 2ieguel
B) sqi0Q1 2i6gusl

C) GaSquine 91 2Ieisl
D) qemaie 2I6gis
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Section 5 - Paperll-Odia Language

31) @91 9QKIQ 99Q NRREA AYPICLER OIRIQ @8 QRIAN ?

A et g Techofw

B) @@ 4l
C) 2fiq @l
D) Fi4 @4l

32) ‘10 28Q’- 9@ a8Sa 22 @’a?

A) cQKIREQ 2102 A
B) 6QKHIL6Q °RIRYS QAIQQI

C) 6QRKIREA RIFRAUIQ ACFY QIR
D) €RgQI 629l

» U6 Scaala Jcaada ?

A) Y98R

B) @@l y®

C) |\ @

D) QOUQIR1 6QIQ

20y YO ‘2099’ A0 GFALA CRW AL QUIRO §9?

A) 21996
B) Q@€
C) a@el
D) @9

35) 6RE6 Q0Q aQ Fqaa eal

A) QISReIR
B) Q991N
C) QIIese
D) QIeRe
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36) ‘Q8AIKY’ 40Q FARO A2 CRW |

A) 2Q82KQS
B) 291Q9
C) AR

D) Rcola

37) ‘QQS’, ‘daIee 291°,995644 |F RIRRICARIQ A9Q IS QO 6|

38) 6Q60QEY 99 ARFO 621Q AR VI Q4 QA IRIN R6R VIR @76 §97?

A) QIR
B) QIQY
C) QnIQ
D) 988

39) ‘@ARRLY 6OU 9QIQ 49 ?

A) 69469
B) Q@1
C) aid
D) 2101

a0) ¥ QOQC QU AUCA QIO CRINAN ?

A) a8Qae
B) 2I8QY
C) a8IQ
D) a8
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s ‘QAQQ1 RIGE QR — IF QIRUEQ QINEARIQ AR 4 ?

A) RO
B) Q9@l

i Techofwo

D) Q¥

42) @A fad g4?

A) 9Q Q1 2@ VRQ FILR 626N

B) 90QQ QA I IQRIQ U9 €I YU €L6R
C) YRRIQ VRUQ AL ARIPAE

D) °ALLIR QARG 6AI§ <A 9618l Q6a

43) RKQIQ 284 RGO QI RPF | 6QUIEE 09T F6H8Y 4 @A

A) 96 QIP@
B) @g Q0@
C) QU8 QIeQ
D) RIS QO

44) ‘2997 AQ6Q ‘A’ RUQAT QW AACA QYRR ?

A) GRS,
B) A1©
C) Q8%
D) @QI

45) ‘el Akial QIRd o’ AFa a2 @’a?

A) 96Q QAR LG

B) Qo&1A QY
C) 6QIAY QU

D) QAU6Q 9§ L&
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Section 6 - Paperll-Mathematics

46) If x = 2/3 and x = -3 are the roots of the equation
ax2+ 7x + b = 0, what are the values of a and b?

A) 3,6
B) 3, -6
€)3 33
D) 30, -30

46) 9@ x = 2/34Q° x = -3 62083 ARag axt + 7Tx+b =0
@ ¢R, 6669 a 98° b Q MY 69697

47) For what value of 'X will the ratio (23+x):(19+x) equal
to 27

A) -15
B) 13
C)15
D) -13

47) X' QERY 6Q66 626m (23+X):(19+x) 2QUIGE 2 A86 afle
629 ?

A) -15
B) 13
C)15
D) -13

48) A tangent to a circle is drawn from a point P, whose
distance from the centre is 25 cm. If the radius of the circle

is 7 cm, then the distance between P and the point of
contact of the tangent to the circle is

A) 24 cm
B) 26 cm
C)25cm
D) 23 ¢cm

48) 9@ 94608 Q8 g5 P Q9@ 2R9 691e8, 6250IQ AIIA
Q001 6268 25 697 | 97 9B QYA 7 627, 6969 P I° 98
96 26609IQ 2°Tw Geq 9as! 6R6S ?

A) 24 cm
B) 26 cm
C)25cm
D) 23 cm

49) If two numbers have only 1 as the common factor then
we call that numbers as

A) perfect

B) twin primes
C) composte
D) co-primes

49) 98 QuF AGIQ 691G ARIRE A4l aFelN, 6061 62
QAR 2I6E K8 KR ?

A) ggaal

B) ane eqlae @eaul
C) edlida

D) qe-eade

50) For any two non-null events A and B, which of the
following is always TRUE?

A) P(A) + P(B) 2 P(A U B)
B) P(A) + P(B) = P(A U B)
C) P(AUB)=P(A)+ P(B)
D) P(ANB) = P(A)P(B)

50) 69 6@KId QBE 26-gaY A€ A 9e° B Qin, F6RI8 AU
68610 Q901 O 2168 ?

A)p
B) P
Cp
D)p

A)+ P(B) 2 P(A UB)
A)+ P(B) < P(AUB)
A UB)=P(A) + P(B)
ANB) = P(A)P(B)

e e e
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51) What sum of amount gives 280 as interest at simple
interest of 0.25% for 2 years?

A) Rs. 28000
B) Rs. 56000
C) Rs. 54000
D) Rs. 50000

51) 6260 QA8 21g6a 0.25% Aaq Gl 2106a geediea 2280
QI 629 ?

A) Rs. 28000

)

B) Rs. 56000
C) Rs. 54000
D) Rs. 50000

52) The difference between the simple interest and
compound interest earned from Rs. 1000 invested at the
rate of 2% for two years is

A) Rs. 40

B) Rs. 4

C) Rs. 40.40
D) Rs. 0.40

52) 90 94 QIR 2% 2ARER 769 621829 1000 o7 IR 8% G
(3 9998 QI AEa AR 6298

53) ABCD is a rhombus of perimeter 16 cm. If its one side
is (3x+1) cm, then the value of xis

53) ABCD 6298 16 cm 9&fi5a 4@ 99 | 9% 92Ia 6511~
QIg (3x+1) cm), 6869 x Q MY 6ES

54) If 'd' is the HCF of 56 and 72 satisfying d = 56x + 72y
(where x and y are integers), then the value of 'X is

Dom.2
NN

54) 9@ 'd' 62@& 56 ¥9° 72 @ 9.41.9 9&° d = 56x + 72y @

o8 @QI (69Q0 x ¥e° y 6288 A, 6669 X' Q ga
6960 ?

55) If tangents PA and PB from a point P of a circle with

centre O, are inclined to each other at an angle 80 degree,
then angle POA is equal to

55) 9@ 96698 PA ¥9° PB 4@ O 629 89 986 P 859,80
@91 621660 IR 96 96 AR 28T, 6669 POA @12l A6

Qe 699
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56) What is the value of k for which the equation
X2 + 5kx + 16 = 0 has no real roots?

A) k < -8/5
B) k2 > 64/25
C) |k| < 8/5
D)k >8/5

56) %2 + 5kx + 16 = 0 AA1RQEIEA k Q 1 6965 AI2Q @ 9GS
R QI ?

A) k < -8/5
B) k2 > 64/25
C) k| < 8/5
D) k> 8/5

57) Square root of 25x% y? - 40xy + 16 is

A) 5x -4y
B) Sxy - 4
C)5x+4
D) 5y + 4x

57) 252 y? - 40xy + 16 Q@ QGiF)R 6@6@

A) Bx - 4y
B) 5xy -4
C)5x+4
D) 5y + 4x

58) 3V(ah) =

A) ap1?
B) ab
C} a2h13
D) a’b

58) 3v(a’h) =

A) ab™?
B) ab
C) a%b's
D) a%h

59) When the ratio a : b is compounded with itself the
resulting ratio a? : b?is called the

A) triplicate ratio of a:b
B) sub duplicate ratio of a:b
C) sub triplicate ratio of a:b
D) duplicate ratio of a.b

59) 60606967 QIS a - b afnIsiNe aAgaIe a? : b? 98¢
399 6410 FEQ 666X LI

A) ab a 898 agaie
B) ab @ @0@qe agaie

D) a:b @ @98 agaie

60) Out of 500 car owners, 400 own Maruti model, 200

own Hyundai model. Which of the following statements is
TRUE?

A) 150 own both car models.

B) 50 own both car models.

C) 1/5 of the total car owners own both car models.
D) 1/6 of the total car owners own both car models.

60) 500 @IQ imaa g, 400 AIQS F6ena FIRR, 200 gEIR
C60R0a FIRG | 6069 F67I9 ABYF AUQ 696 O ?

A) 150 QL 919 FIEeRa FIRG |
B) 50 @@ QI Aseaa aIRe |

C) 6910 IR ARQE 1/5 QIFl QLA /18 66N AR |

D) 60110 QIR Akiew 1/6 QId 202 @18 F6eRa ARG |
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Section 7 - Paperll-Social Science

61) The Constitution of which of the following countries is
regarded as the first written Constitution in the world?

A) Germany
B) Argentina

C) United States of America
D) United Arab Emirates

61) FIRYS 676 6990 AAIGG F4Q Jaa Age QRIS BI6R
2GMN S2IQrg ?

A) edi@

B) zica@al

C) &°g2 QI 2R
)

D) a°g® @liee ¥F6eesq

62) How far is the North pole from the Equator?

A) 90 degree latitude

B) 60 degree latitude

C) 0 degree

D) 180 degree latitude

62) GgQ 604 Ol ARA 6AQ 663 A ?

A) 90 GgnaIyrs
B) 60 &9/ &gyre
C) 0 @g1

D) 180 o aimyiea

63) Which of the following committees recommended the
establishment of a three-tier Panchayati Raj System?

A) G.V.K.Rao committee

B) Dr.L.M.Singhvi committee

C) Balwant Rai Mehta committee
D) V.T. Krishnamachari committee

Join Us-

3) 36118 699 KGR 52919 LY AR IR UGS F6R

A) & & .69 | QB /6
B) G819 ~a0| | G0 SFT
C) opea Qi 67125 /616

D) &. §. queIeiel 986

64) Which among the following is the oldest Iranian text
that bears similarity to Rigveda?

A
B
c
D

Vinaypitka
Indica
Avesta
Tripitaka

ey A Mo

64) FIRYS FUIQ 6@ 62AE ATYAISY AN AR QIL]
QR 699 AT AF°SAY Q6H ?

A
B
C

Seadsa
Qdal

)
)
) 2lsas
)

=}
Lg)

65) Which of the following can be defined as the average

atmosphere conditions prevailing at a specific place for a
long period of time?

A) Season
B) Monsoon
C) Climate
D) Weather

65) @1d QAR A Y@ FO] UFEQ QYL 2AILR AT QRIS
Q26m FORNYE 64 99 IPIg 9FAIAE @RaIde ?
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66) Which of the following is a CORRECT statement 68) Q291 &% PAER VILI 9gEIER YR , IRl :
regarding a biofuel?

A) ad
A) It is a fuel produced from hydrocarbon-rich living )QLEH
organisms such as plants B) og

B) It is the energy or fuel produced from radioactive C) aere
elements like uranium and thorium

C) It is the fuel derived from geysers

D) gead
D) It is the energy derived from Sun

66) 652 Q9 AMREA F6FIB AUQ 6996 A0R MWVIY ? 69) Which one of the following metals was first intorduced
by New Stone Age for making tools?

A) 92| QERel 98 21968 QI9e g4 9198 8¢ 919 0Ig §I9

A) Copper
i B) Iron
B) 92| gaifer 1e° 62t 9t Feade QUIRIR 019 §I6 C) Gold
Qe D) Zinc

C) w2l @8 gged 01 916 a8e

D) 121q@i 01 9I1g 49 269 69) 9% 020 QE6R QUG FIE A1 6a4I I G2A6A 1S

cglRgml ?
67) Which of the following is the INCORRECT reason for
the degradation of potable water?
A) Qg
A) The untreated sewage from domestic households let B) emle
into the rivers c .
B) The movement of saline water into riverdue to ) E
decrease of ground water level D) Ga/ @ql

C) The untreated industrial waste from factories let into
the rivers

D) Cutting down trees and desertification 70) The Fifth Schedule of the Indian Constitution contains
- ” - provisions related to which of the following areas?
B7) 8R4 GEI9RI A9 JI6 G652 699 QIRET AIFIG &9 9w OF

Q6% ? A) Validation of certain Acts and Regulations

B) Allocation of seats in the Council of States

A) ga 0Ig QIRIREEI , 9&° 9Bl 9d @9l @ ARSI Gl C) Administration and Control of Scheduled Areas and

2lase 921 @ Ael Scheduled Tribes
i D) Administration of Tribal Areas in the States of Assam,
B) @91@3 AR 914 esami A9 R G , ARG FOI o Meghalaya, Tripura and Mizoram
clelq Adaa -
C) QIRGIRI OIg 916 , IR 908 @Al 8 AN K4 2CEH) FOll IS Sichiiel SPOFNEING =S SemEeRIEse
¢@1g dal WERS! Qe ?

O EsReR AT A iR s A) @8 Go9 6 2RFANY AMIAL FAS

68) The earth in its own orbit revolves around the: B) qiay a3826a 2147 294R
C) 2g9Ge 699 8 299Pe FRRIRT gaIAq 8 Fuad
A 8un D) 21Q19,, 671AIRG, B9l @ F6RIR QIRIER Yl 2SI
B Mach AR AIAG
C) Mars
D) Jupiter
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71) What type of judicial system does India have?

A) Monarch judicial system
B) Flexible judicial system
C) Integrated judicial system
D) Federal judicial system

71) QIALERA @ IAI0Q YEe Il gore &g ?

A) 9986QIR UGS QYeql
B) eaiae quida Quadl

C) ange syida Q4eql

D) a@a euida Q4eql

72) Who among the following British officers was

responsible for the Jallianwala Bagh Massacre that took
place on 13 April 19197

A) General Irwin
B) Lord Cornwallis
C) Lord Wellesley
D) General Dyer

72) 1919 13 2gm AJL6Q 621R2Q1 FINIF ARG, IELRHI
diol 5618 6a0 359 ATAQ QI J6m ?

A) 6e620IR Q8]
B) ag adaing
C) ag 69m 6aR
D) 6a6aaim @1N9)

73) Who among the following leaders formed the Home
Rule League movement in India?

A) Lala Lajpat Rai and Bipin Chandra Pal

B) A. O. Hume and Annie Besant

C) Bal Gangadhar Tilak and Annie Besant

D) Dadabhai Naoroji and Gopal Krishna Gokhale

73) G678 AIQ 674 696! F1I68 NINGER 621F] @R, WG| 2IERINS
Q0e afgem ?

A) ARl AINAQ AUXIL° IR 09 AR

B) «1.8. gue| 9e° &G 6eag

C) Qo QRIS Saa 9e° YR 69

D) Q10 QIR QI6QIRT 9=° 69IKIR §B ESIIHER

74) According to Alfred Wegener's Continental Theory,

the ancient continental mass of Laurasia is a part of the
present day

A) Australia
B) North America
C) Antarctica
D) Africa

74) 2INETQ 649669 & KECAUR BA QI AILIEREIL QRIT O
2QQA6Q , gI91e ARAIGY 2ER QEFIS QIR 2°¢, Il 6268

A) zeamel

)
B) aaa 25089
C) alQiGal

)

D) aig«l

75) Which of the following parallels of latitude is situated
in the 23 degree N?

A) Tropic of Cancer
B) Tropic of Capricorn
C) Antarctic Circle

D) Arctic Circle

75) G611 AAISRIR AWLE FIeT FRIQ 6096 23 G4l AR06a
21949 ?

A) 909 QI8

B) qqa g8

)
)
C) geng 9@
D) gerg 9@
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Section 8 - Paperll-Science

76) Which of the following is a good reducing agent?

A) F2
B) H2SOs
C) 0,
D) Na

76) GOAYE FUQ 6AAE QEF 2IARIQT AN 26T ?

77) The study of the physical form and external structure
of plants is known as

A) Plant physiology
B) Phytotomy

C) Plant pathology
D) Phytomorphology

77) 980 FIR1G8 F08 8 QI TARFI AUCA AUAAY A6
QRIAN

A) abie TRBeRIT

B) ¢rQegIssIé

C) aee akaiens
D) criQscIIasciena

78) According to Law of conservation of mechanical

energy, the total mechanical energy of a system remains
constant if only

A) replicative forces are acting on system

B) conservative forces are acting on system

C) constant forces are acting on system

D) non-conservative forces are acting on system

78) QIER 98 AR FANQ 2FALR , ¥R JIFA QIFS 1B
da Q62 616366 6a9R

A) gogal 9R gEIN QUER RIY @98
B) Q0o @@ gdIe1 996a @Iy @0&
C) 3o 9% g4Il Q968 QIdY QG

D) 210°a@6 @@ 9491 Q06 QI 993

79) Liquid tends to rise or fall in the capillary because of

A) gravitational force
B) viscosity

C) Van der Waals force
D) surface tension

79) 6390 PRIFIER GOR UK AWRG B0 @Y U6, 1IN
QS 62RG

A) qriegs af

C) aIg 699 QI «

)

B) aigol
)

D) ga g

80) Which of the following microbes listed below, has no
role in acid production?

A
B
Cc
D

Acetobacter aceti
Aspergillus niger
Saccharomyces cerevisiae
Clostridium butylicum

—

80) 13 ellG6a G AYe 694 FIRCTIY, @ @8 gfiel QI

A) 2I69601916]0 2I6QT

C) amisafnead caamdsing
D) eq1@5a9 g5aaa

)

B) 2169879 @965
)
)
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81) A single flagellum on both ends of the organism is

known as

A) Monotrichous
B) Lophotrichous
C) Amphitrichous
D) Peritrichous

81) 2¢S1eQ GR JIS6Q QI 6TITI TN  FRIAN :

A) 60198621Q
B) eniccriGemiq
C) 21i Sealq
D) 6cQiGemIq

82) Which of the following is CORRECT from the list given
below?

A) Aspergillus niger = acetic acid; Acetobacter aceti =
citric acid; Monascus purpureus = statins

B) Aspergillus niger =butyric acid; Acetobacter aceti =
acetic acid; Monascus purpureus = statins

C) Aspergillus niger = citric acid; Acetobacter aceti =
acetic acid; Monascus purpureus = statins

D) Aspergillus niger = citric acid; Acetobacter aceti =
acetic acid; Monascus purpureus = lactic acid

82) G6qI AuQ 699G OR ?

A) 2169899 FIRERA= 2I6AG] I3Q:2IEAETIRNERR 2I6QT=
ARER 9dg ; 6AI9IAQ AIdaRIq =]IFq

B) plcadng fieeee= QUCledR 3R ; 26ASIRIERR
2I6AC=216A5R TR 6AIRIRQ I =8ITQ

C) 269699 FIREER= ARG 13Q ; 2EICTINERQR 26AT
=216Q8Q ¥dQ ; 6AIRIAQ AIJERIQ = /TG

D) 2169599 fIRcaa= ARGR 1dQ ; EACTIRERA 26T
=26Q0R 1&Q ; 6A1RI12Q QIR = AIRR 93 ;

83) The cell wall of plant cells is outer protective covering
made up of cellulose. It also

A) helps in maintaining the shape of the cell
B) helps in transpiration

C) helps in photosynthesis

D) helps in folding of proteins and lipids

83) Q0% 6QIFQ 200 MR AT AN Il FAR @Y
QdI IS8 | 9 A1

A) 62/89 21910 A8l RARIER AT A6

B) 9@l Q180460 QIR K6a

C) 2enie Ccgas 6Q ALY F6R

D) 6915 9e° AdQ Qe @AQI6a AITIAY A6

84) Which of the following is an example of chemical
change?

A) steam condenses into liquid water
B) waxmelts
)
)

C) sugar dissolves in coffee
D) Formation of rust

84) Q65118 F12IQ 6766 QIAILER ITLRER Y@ ARILAE 26T ?

A) Q¥ 9OF FRER UGG 29
B) qeq caRal

C) 33 oT6q 9390 g4

D) qe& uaeal

85) The value of work done is positive if angle between
the direction of force and the direction of motion and
displacement is a/an

A) obtuse angle

B) parallel to each other
C) acute angle

D) right angle
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85) QI8 AN GRIAR 94, 9T 97a ¥ 02l 9R6ea 6 1e°
QRIAR 99Q 94

A) gm 614
B) arsqiq
C) gl 618l
D) ¢l 6qié

86) The Sl unit of temperature is

A) candela
B) kelvin
C) ampere
D) mole

86) Q19 S| 959 /e 6208

A) Qe
B) cafla

C) 2@aiq
D) eaim

87) Which of the following is NOT a method of preventing
iron articles from getting rusted?

A) Painting
B) Oiling

C) Charring
D) Greasing

87) Rel AFFIY ARE AITIQ 6IRS AR FRYS FUQ 606G
@ 980 g6 ?

A) 60&°
B) eraqe
C) oige
D) g&°

88) Which quality of liquid is responsible for the formation
of droplets?

A) Density

B) Hydrogen bonding
C) Surface tension
D) Viscosity

88) 9934 909 9991 UIR 99F LR 694 Y4 QU 26T ?

A) Qigel

B) auele of
C) queie

D) quiae!

89) Which of the following cells are also known as
erythrocytes?

A) Monocytes

B) Nerve cell

C) Red blood cell
D) White blood cell

89) ¢ AY© 69 6QIT o] Y562 AIRSY Al GRIAN ?

A) 6016Q1QIREY
B) qig 6xI1S

C) 6mige o8 @4
D) 6861 0@ *da

90) Outermost whorl of a typical flower is known as

A) androecium and is made up of stamens
B) calyx and is made up of sepals

C) calyx and is made up of anther

D) corolla and is made up of ovaries

90) 99 Q% InQ A°g4 QDY ARAQ 8 QRIAN

A) 964 8 98l 62409 F60 S2IR
B) 90 g 8 w2l 95geasa Sa1R

C) g3 g 6 42l ARIGEATIER FaIR
D) eanae e 9al G Egeasa Ga1a



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Question Paper No:

Answer Key
L. A 3l.D 61. €
2. B 32. A 62. A
3. A 33.D 63.C
4. A 34.C 64.C
5. A 35. A 65.C
6. B 36. D 66. A
7. D 37.B 6L D
8. D 38.B 68. A
9. D 39.C 69. A
10. B 40. B 70. C
11. A 41.B 71.C
12. C 42.B 72.D
13. B 43.D 73.C
14. A 4. A 74.B
15.D 45. A 75. A
16. D 46.B 76.D
17.C 47. A 77.D
18. A 48. A 78. B
19. D 49.D 79.D
20. B 50. A 80. C
21.D 31.B 81.C
22. C 52.D 82%g
23.€C 5. D 83 A
24. A 54.B 84.D
25. A 55.C _8%.C
26. 4, 564086, B
A 57. Bld C
28. D 58.C 88.C
29. C S9%D 89.C
30. B 60. C 90. B
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